Unit 4 Test Part 1 Study Guide

1. Identifying Inscribed Angles
a) What is the relationship of £AED to AD?

LAED= S(a)

b) #DEA is congruent to what angle?

In the circle at right, KL = 115°.

3. What is the measure of MNK?
180
4. What is the measure of AMLK?
70

5. What is the measure of ML?
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6. What is the measure of AMKL?
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2. Identifying Central Angles
a) 4ACB is congruent to what arc?

A8

b) 4ACD is congruent to what arc?
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In the circle C below, mACAB = 35°, and m4ACB = 110°. Find the following measures.
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8. mEB = 70.
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10. mDA = 7()0

11. mZACD = 70[»



For the following problems, determine which theorem to use, write an equation, and solve.
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19. Find x.




21. In the circle to the right, /K =5, KJ =12, and LJ =8.

Determine if K. is tangent to the circle. .
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Show work and explain. 5

5% 4 T = B~ !
2%+ M = oS & L
Wt = e

yes s tasgent

N

22. In the picture to the right, mAB =42,

What is the relationship between
ZAOB and ZACB?

LACB e % o LA0B
ZAOBHE LACB=T

23. XY and ZV are tangent. The measure of ZXIWZ = 60°. Find the measure of /XVZ .
GO+ LXYE =180

24, mZF =100° 25. mzW =3x+7, msZS=4x-9, mzR =70°
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29. If a central angle measures 145 degrees and creates  30. The diameter of a pie is 10 in. The pie is cut into 8

a sector with an area if 200m cm? , what is the slices. What is the arc length and sector area of each
radius of the circle?
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31. The radius of a bike wheel is 12 inches. There 32. There are two pies each with a diameter of 12 in. One

are 9 spokes on the wheel. What is the length pie is cut into 6 slices. The other is cut into 10 slices.
between each spoke? Which pie has more area per slice and by how much?
L 2et) A<vzin 4 =\ew
l G?W\ 7 /2) b s(tce> Yo s\iceS
Sechel =3 /@) =
T b 7o
orei - (ﬁ
2 // 2/ H’)
J;’/C i~
= T
33. Adcircular track has a diameter of 100 yards. A ol N
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How far did the athlete sprint? ;
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